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Exa mpl e 1: Consider h 1 alue problem y'+2y=x"3 e*(-2x), y(0)=1. Approximate the value of
y(0.6) using a step s
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Example 1: Consider the initial value problem y’+2y=x"3 e”(-2x), y(0)=1. Approximate the value of
y(0.6) using a step size of 0.3.

y'+2y=x"3 find y(0.6)
Exam [e/\(-2x), using 2
ple 1: |y(0)=1 steps
Runge-Kutta
y_(i+1)=y_i
k3=f(x_i+. +
X k1= k2=f(x_i+.5h,y_i 5h, k4=f(x+h,y |h*(k1+2k2+2k
i h _i y_i f(x_i,y_i) +.5hk1) y_i+.5hk2) +hk3) 3+k4)/6
-1.578249 (-1.0382321
0.3 0 1 -2 -1.397499739 817 96 0.5505134347
0. [0.550513 |-1.086208 -0.842543 (-0.5304427
0.3 3 4347 955 -0.7381155225| 5523 882 0.31161494
0.(0.311614
0.3 6 94




